
1) 96 - (-93)

Answer: ____________

2) Round 8.00763 to 2 decimal places.

Answer: ____________

3) 50 ÷ 10

Answer: ____________

4)

A B = 19
Find the Angle at side A.

Answer: ____________

5) Find perimeter of 
triangle s = 66 m

Answer: ____________

6)

A B = 64
Find the Angle at side A.

Answer: ____________

7) Convert the following improper 
fraction 57/10 + 63/6 to a mixed 
number

Answer: ____________

8) Solve 9f2 + 15f + 2 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

9) 63/5 x 51/10

Answer: ____________

10) 89 x 55

Answer: ____________

11) 89 x 55

Answer: ____________

12)

A B = 42
Find the Angle at side A.

Answer: ____________

13) 1/14 of 98

Answer: ____________

14) Round 29.879999 to 3 decimal places.

Answer: ____________

15) Find the range of the following set of data:

0.9, 10

Answer: ____________
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16) (28)13

Answer: ____________

17) Convert the following improper 
fraction 12/7 + 11/6 to a mixed 
number

Answer: ____________

18) $319.00 earning 6% compound 
interest for 6 years.

Answer: ____________

19) $319.00 earning 6% compound 
interest for 6 years.

Answer: ____________

20) 62.4 + 52.8

Answer: ____________

Total: ___ / 20
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Answers:

1) 189 2) 8.01 3) 5 4) 161 5) 198m 6) 116 7) 121/5

8) f = -0.1 or -1.5 9) 3333/50 10) 4895 11) 4895 12) 138 13) 7 14) 29.88

15) 9.1 16) 2104 17) 219/42 18) $452.51 19) $452.51 20) 115.2
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